BEPAS

(50) Division, Dividing 2 digit

Name:

99 +9 =

94+ 6 =

69 +7 =

78 +4 =

92+7=

45 +8 =

92+6 =

95 +2 =

35+5=

97+9 =

97 +4 =

98 +3 =

90 +3 =

64+3 =

88 +7 =

42+5=

37+7=

83+3 =

99 +7 =

20+8 =

74+8 =

35+8 =

77+8 =

76+2 =

52+6=

75+8 =

89+5 =

59 +7 =

88 +7 =

79 +4 =

79+9 =

78+3 =

25+4 =

77+7 =

65+5=

42+8 =
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Date:

Score:

32+3 =

44 +5=

37+4=

46+ 8 =

75+5 =

80+5 =

53+9 =

65+5 =

65+4 =
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(50) Division, Dividing 2 digit

Name: Date: Score:
8=+8=1 90+3 =30 52+6='3—:8'§ 32+3='3—:10—
64 — =21 75+8 = —93 44 =5 = =8
99+9 =11 -3 <13 T g 7% T 5 0 %5
94 + 6 = =15 88 +7 = —124 89 = =17 3»7'4—37—91
3 T3 77T 5 s T4 74
69 +7= =9 42'5—42—8 59'7—59—83 3 2—3—11
77T 5 75 I 2 2
78 +4 = —191 37+7= —52 88 = =12= 46+8= —53
o2 2 7T 77T T4 T4
92 +7 = =13 83+3 = —272 79 — =19
7 T A T — 4 Y5 15+5=15
45+ 8 = =5 99 +7 = =14=- 79+9= —87
8 78 I A YT 7% 80+5=16
92 +~6 = —151 20+8 = —21 53+9 = =5
U3 3 02 2 78+3=26 79 79
95+2 = =47 74 +8 = —91 25+4 = —61
C2 T2 P47 AT T 0% 65+5=13
35 3 6 1
35+-5=17 35*8:?:4§ 77 -7 =11 65*4:'1‘:162
B 7 3 9 2
97 + —32105 37421 65+-5=13 977:7:17
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07 +4= 2 =94
Ty Ty
08 +3 = 20 =327
3 3

77-8—77—95 42-8—21
T8 78 !
76 +2 =38
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5__

62+9=—

6—
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